[ Efficiency vs vertpos |

0.4

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

...............................

...............................

...............................

...............................

1.0

Ratio

v

0.950

i -

1072

Efficiend

boJ

s
s
-
ts

QP U_TewDeETaur
QPU-NEW fau
8PU NEWdeiau

PU—NEW, ;au
OPU_NEWdefau

@D D

(]

%

spress)
cPLess3
ecPLess4

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

ettici

................................

................................

................................

...............

...............

...............

Vs

Ratio
N

0.95!

[Effici

ency vs.sim PV z |

10 20 30
TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
3
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

0

FRVS)

Ratio

o
©
a

|
T

N N NN

Sim. PV z (cm)




	Contents
	Page 1


